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Question 1: A cube has a surface area of 54cm?
Find the side length, x, of the cube
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Question 1:  The following pairs of triangles are congruent, state the condition that shows
they are congruent.
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Peywords

2D: two dimensions to the shape e ength and width

3D: three dmersions to the shape eg kngth, width and height

Vertex: a point where two or more Ine segments meet

Edge ai ne on the boundary joining two vertex

Face.: a flat surface on a sold object

Cross-section: a view inside. a solid shape made by cutting through it

Plan: a drawing of something when drann from dbove (sometimes birds eye view)
Perspective: a way to gve lustration of a 3D shape when drawn on a flat surface.
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Peywords

Protractor: pece of equpment used to measure and draw angles
Locus: set of points with a common property

Equidstant: the same. dstance

Discorectandge: (g stadum) — a rectangle with semi circles at. either end
Perpendcular: Ines that meet at 90°

Orc: part of a curve

Bisector: ai ne. that dwides something into two equal parts

Congruent: the same shape and size
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